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In AABC the following relationship holds:
(a +b)ymw,+ (b + c)m,w, + (c + a)ymywy, > 2s(s*> — r*> — 4Rr)

Proposed by Nguyen Minh Tho-Vietnam

Solution by Tapas Das-India
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We know that m, > 2

a+b C 2ab C_( + b)ab 2C_
> cos2 a_l_bcosz— a ab cos 5=

(a+b)ym.w,. > (a+ b)

s(s—o¢)

= (a+ b)ab b

=s(s—c)(a+b) =s(s—c)(2s —c) = s(2s* — 3cs + ¢?)

(a+bymw,+ (b+ cm,w, + (c + aymyw, = Z(a +b)ym.w, >
> SZ(ZSZ —3cs+c?) = 3(652 —3s(a+b+c)+ (a? + b? + cz)) =

=s (632 —6s%+2(s*—1r? - 4Rr)) = 2s5(s> —r? — 4Rr)

Equality holds fora=b =c



